










































































Design and Analysis of Algorithms (Autumn 2023), 5 cr

Course exam 25.10.2012 – Model solutions

Examiner: Veli Mäkinen

Remember to write your name on each answer sheet. You can answer also in Finnish or in
Swedish.

Course grading: 15+15+15+15=60. The assignment yielding least points will be replaced by
exercise points if that gives a higher score.

1. Recurrences

Consider recurrence T (n) = 2T (n/2) + n log2 n. The following flawed substitution proof
aims to prove T (n) = O(n log2 n). Spot the errors in the proof and then fix them to give
a correct analysis. Before fixing the induction proof, check first using the recursion tree
method if O(n log2 n) is the correct bound.

Flawed analysis.

Assume T (m) ≤ cm log22m for m < n.

Then by induction
T (n) ≤ 2cn/2 log22

n
2 + n log2 n

≤ cn log22 n+ n log2 n
= O(n log2 n).

Solution.

First, the recursion tree yields T (n) = n
∑log2 n

i=0 log n
2i
< n

∑log2 n
i=0 log n = O(n log2 n), so

the bound is indeed correct, just the analysis is flawed.

The analysis estimates the equation too much upwards failing to show that T (n) ≤
cn log22 n as it should. Also base case is missing. More careful analysis is sufficient to
fix the flaws.

Assume again T (m) ≤ cm log22m for m < n.

Then by induction

T (n) ≤ 2cn/2 log22
n
2 + n log2 n

= cn(log22 n− 2 log2 n+ 1) + n log2 n
≤ cn log22 n,

when−2cn log2 n+cn+n log2 n ≤ 0. This holds for c ≥ 1 and n ≥ 2, as then cn ≤ cn log2 n.
Assume the natural base case T (1) = 0. Induction assumes T (1) ≤ c1 log22 1 = 0, which
holds in the base case.

Grading.

• 5 points for checking that the bound is correct using the recursion tree method.

• 7 points for fixing the induction step correctly.

• 3 points for fixing the constants by checking the base case.

Common mistake.

A common mistake was to subtract a lower order term, e.g., T (m) ≤ cm log22m−bm log2m
for m < n, but showing only T (n) ≤ cn log2 n, while one should show T (n) ≤ cn log2 n−
bn log2 n in this case.



2. Flows

A cycle cover of a directed graph G = (V,E) is a set of vertex-disjoint simple cycles that
cover all the vertices, i.e., every vertex appears exactly once in the cycle cover. In the
Cycle Cover problem we are asked whether G has a cycle cover or not.

Show that the Cycle Cover problem can be solved in polynomial time by reducing it to
the maximum-flow problem. Remember to provide a complete proof. Hint. Start with a
bipartite graph with one copy of nodes on the left and another copy on the right.

Solution.

(a) We want to reduce the Cycle Cover problem to Maximum-flow problem. Thus we
take an input of the Cycle Cover problem, i.e a graph G = (V,E), and we create an
input of Maximum-flow problem. We create two different copies of V , Vout and Vin,
we take G′ = (V ′, E′) the directed graph with

V ′ = {s} ∪ Vout ∪ Vin ∪ {t}
E′ = ({s} × Vout)

⋃
(Vout × Vin ∩ E)

⋃
(Vin × {t})

where s and t are new nodes corresponding to the source and the target and the
capacity c with for all e′ ∈ E′, c(e′) = 1.
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As |V ′| = 2|V |+ 2 and |E′| = 2|V |+ |E|, the size of G′ is in O(|V |+ |E|).
Now we want to prove that G has a cycle cover if and only if G′ has a feasible flow
of size |V | with only integral values.

(b) (⇒) Assume that G has a cycle cover C represented as a set of arcs defining the cycles.
As a cycle cover is formed of vertex-disjoint simples cycles, we can decompose C in
a set of vertex-disjoint simples cycles {c1, . . . , cm}. As {c1, . . . , cm} is vertex-disjoint,
we can partition V in V1, . . . , Vm using the set of vertex cover by each cycle. As for
each Vi the number of vertices in Vi corresponds to the number of arcs in ci, the total
number of arcs is equal to the number of vertices in V , i.e. |C| = |V |.
We take the application f from E′ to N which is initialized to 0 and for each (u, v) ∈ C,
we add 1 to f((s, u)), f((u, v)) and f((v, t)). As for each (u, v) ∈ C we create a path
from s to t, f is a flow (respects the flow convervation property).
As C is formed of vertex-disjoint simple cycles, for all (u, v) and (u′, v′) ∈ C , we
have u 6= u′ and v 6= v′. Hence, we can prove by contradiction that for all e′ ∈ E′,
f(e′) ∈ {0, 1}. Indeed, we assume that there exists (u, v) such that f((u, v)) ≥ 2. As
E is not a multiset (G has no multiple edges between the same pair of vertices), we
know that if (u, v) ∈ E, f((u, v)) ∈ {0, 1}, thus it is impossible. If u = s, there exists



w and w′ such that (v, w) and (v, w′) ∈ C which is impossible. If v = t, there exists
w and w′ such that (w, u) and (w′, u) ∈ C which is also impossible. Hence, the flow
f is feasible.
As for all e′ ∈ E′, f(e′) ∈ {0, 1}, the size of f corresponds to the number of u ∈ Vout
such that f((s, u)) = 1, which corresponds to the number of arcs of C. As |C| = |V |,
the size of f is |V |. Hence there exists a feasible flow of size |V | with only integral
values.

(c) (⇐) Assume that G′ has a feasible flow f of size |V | with only integral values. As f
is a feasible flow with only integral values, we have that for all e′ ∈ E′, f(e′) ∈ {0, 1}.
As the size of f is |V |, |{(s, u) ∈ E′}| = |Vout| and |Vout| = |V |, for each vertex u of
Vout, we have f((s, u)) = 1. As f is a flow and satisfies the flow conservation property,
for each u ∈ Vout, there exists a unique (u, v) ∈ E such that f(u, v) = 1. We denote
by C the following set of |V | elements {(u, v) : u ∈ Vout, (u, v) ∈ E and f(u, v) = 1}.
We are going to prove that C is a cyclic cover of G. As for all u ∈ Vout there exists
(u, v) ∈ C and Vout is a copy of V , C covers all the vertices of V . By the definition
of C, for each u ∈ V , there exists a unique v such that (u, v) ∈ C and as |V | = |C|,
C is a set of cycles and thus a cycle cover of G.

Grading. 5 points for each item. In detail

(a) 1 point for taking an input of Cycle Cover, 1 point for creating a flow network, 1
point for giving a good network and 2 points to give the good equivalence between
the problems.

(b) 1 point for taking a cyclic cover, 1 point to create a flow with this input, 1 point
to prove that is a flow and 2 points to prove that this flow is feasible.

(c) 1 point for taking a flow with the good properties, 1 point to create a cyclic cover
with the flow, 1 point to prove that cover G and 2 points to prove that is a set of
cycles.

3. Dynamic programming

Recall the algorithm to compute the length of the longest increasing subsequence in
quadratic time. Modify the algorithm so that it computes the length of the longest in-
creasing subsequence that can be partitioned to k pieces that can be found in that order
as subarrays of the input. For example, with input A = 1, 3, 5, 2, 6, 7, 2, 4, 9, 12, 15, and
k = 3, the longest increasing subsequence = 1, 3, 5, 6, 7, 9, 12, 15 is also the solution to this
restricted case as it can be partitioned into [1, 3, 5], [6, 7], [9, 12, 15], where the pieces are
found in that order in A. With k = 2 the optimal solution is [1, 3, 5], [9, 12, 15], and thus
differs from the unrestricted optimum. Hint. Consider computing a two-dimensional table
T [0 . . . n][0 . . . k] with value T [i][j] defined as the length of the longest increasing subse-
quence in the subarray A[1..i] consisting of j contiguous pieces such that the last piece ends
in the ith element, or −∞ if no such subsequence exists. Find a recurrence to compute
the values in a suitable evaluation order. Consider also initialization and finalization.

Solution.

We solve the problem using dynamic programming, computing for all 0 ≤ i ≤ n and 0 ≤
j ≤ k the value T [i][j] defined as the length of the longest increasing subsequence in the
subarray A[1..i] consisting of j contiguous pieces such that the last piece ends in the ith
element, or −∞ if no such subsequence exists. For convenience, we define that if there are
no pieces, the last piece ends in A[0] = −∞. By this definition, the final result is given by
max0≤i≤n T [i][k].

From the definition we get that T [0][0] = 0 and if one of the equalities i = 0 or j = 0 holds,
then T [i][j] = −∞. Let us now compute T [i][j] for 1 ≤ i ≤ n and 1 ≤ j ≤ k recursively.



Constructing an increasing subsequence consisting of j contiguous pieces ending in A[i] can
be done in two ways: extending the last piece of a subsequence with j contiguous pieces
ending in A[i−1] provided that A[i−1] < A[i] or by creating a new piece into an increasing
subsequence constisting of j − 1 contiguous pieces ending in A[a] where 0 ≤ a < i and
A[a] < A[i]. If A[i− 1] ≥ A[i], we get the recurrence

T [i][j] = max
0≤a<i

A[a]<A[i]

T [a][j − 1] + 1

and if A[i− 1] < A[i], we get the recurrence

T [i][j] = max

T [i− 1][j] + 1, max
0≤a<i

A[a]<A[i]

T [a][j − 1] + 1

 .

Here we use the convention that a maximum over an empty set is −∞. By definition, the
value T [i][0] is 0 if i = 0 and −∞ otherwise. The straightforward implementation of this
recurrence runs in O(kn2).

Grading.

• 8 points from the correct recurrence.

• 5 points from the correct initialization.

• 2 points from the correct finalization.

4. NP-completeness of vertex cover revisited

In this assignment you should complete an NP-completeness proof of vertex cover using
the following sketch of a reduction from 3-CNF-SAT. In vertex cover problem, one asks if
there is a subset of nodes of size k in an undirected graph that cover all edges. That is,
each edge should have at least one endpoint inside the subset forming a cover. Recall that
we already proved vertex cover NP-complete, but for this assignment, assume you do not
know it yet.

Recall also that the input of 3-CNF-SAT problem is a boolean formula of the following
form:

φ = (`1,1 ∨ `1,2 ∨ `1,3) ∧ (`2,1 ∨ `2,2 ∨ `2,3) ∧ · · · ∧ (`m,1 ∨ `m,2 ∨ `m,3),

where each literal `i,j is either xt or ¬xt, for some t > 0, and {x1, x2, . . .} is the set of
variables that may occur in φ. Recall that we proved that deciding if 3-CNF-SAT formula
φ has a truth assignment is an NP-complete problem, and for this assignment, you can
assume it known.

Consider a reduction that creates a graph with the 3m literals as nodes. Add edges to
connect all literals inside the same clause to each other. Then for each literal add also an
edge to its negation in all other clauses. (Note that this is the complement graph of the
one we considered at the lecture for another problem.) That is, for

φ = (x1 ∨ ¬x2 ∨ x3) ∧ (¬x1 ∨ ¬x2 ∨ ¬x3)

we would create a graph with six nodes v1,1, v1,2, v1,3, v2,1, v2,2, v2,3 correspond-
ing to the literals in the two clauses in the same order. Edges would be
(v1,1, v1,2), (v1,1, v1,3), (v1,2, v1,3), (v2,1, v2,2), (v2,1, v2,3), (v2,2, v2,3), (v1,1, v2,1), (v1,3, v2,3).

Complete the details of this reduction to prove vertex cover NP-complete. Hint. Think of
vertex cover of size k = 2m.

Solution.



Vertex cover belongs to NP because it admits a certificate of the following form: the set
S of vertices in the cover. To check such a certificate in polynomial time, we inspect each
edge of G and check whether one of its endpoints belongs to S.

To prove that vertex cover is NP-hard, observe that the reduction proposed can be done in
polynomial time. We still need to prove that φ is satisfiable⇔ G (i.e., the graph proposed
in the reduction) has a vertex cover of size 2m.

“⇒”: Let f(·) be an assignment of truth values to the variables of φ (i.e., f(xt) is either 0
or 1) rendering φ true. For each clause ci of φ, let `i,j be one literal in ci set to true by f .
We select in the cover S the two nodes of ci different from `i,j . Observe that the size of S
is 2m. The set S is also a vertex cover because:

• all edges inside the same clause are covered by S, as we select two nodes from each
clause;

• any possible edge between clauses ci and cj is of the form (xt,¬xt). Thus, at least
one of its endpoints is selected in the cover for ci or for cj (i.e., not both of xt and
¬xt were set to true by f).

“⇐”: Let S be a vertex cover of G of size 2m. Observe that any vertex cover of G must
select at least 2 nodes from each clause. Since |S| = 2m, then S selects exactly 2 nodes
from each clause. We construct a truth assignment f by setting to true that literal of ci
not in S, for each ci. If consistent (i.e., we do not assign true to both literals xt and ¬xt),
then f renders true each clause, and thus renders φ satisfiable. To see that it is consistent,
assume for a contradiction that both xt and ¬xt were assigned to true in distinct clauses
ci and cj , respectively. Thus, neither literal xt or ¬xt is in S. Thus the edge (xt,¬xt) is
not covered by S, a contradiction.

Grading.

• 1 point: arguing that vertex cover belongs to NP and that the reduction given in the
assignment works in polynomial time.

• 2 points: mentioning the equivalence φ is satisfiable ⇔ G has a vertex cover of size
2m (either explicitly or implicitly)

• 6 points: proving the “⇒” implication

• 6 points: proving the “⇐” implication



DATA15001 Introduction to Artificial Intelligence (T. Roos)           Separate Exam 20.1.2022

Note: This is an "open book exam": You are allowed to access any material, including the 
course material in online or printed form. However, it is strictly forbidden to copy answers 
(except for brief, clearly marked quotations), or to interact with other people to discuss 
the exam during the exam.

You can answer in Finnish, Swedish, or English. 

Answer four (4) problems out of five (5). If you answer all problems, only the first four will 
be taken into account. Each problem is worth max 10 points. 
 

1. Philosophy, History, and Ethics of AI 

a. (4 p) Essay. A good length is about 2/3 of a page. Topic: “The next generation of AI: 
Hybrid neuro-symbolic systems?” 
It has been suggested that neither the "good-old fashioned AI" (GOFAI) (methods 
based mostly on symbolic representations) or the modern AI (methods such as 
machine learning and neural networks) alone can solve all problems, and that what 
we'll need to get to the next generation of AI is hybrid systems that combine the "best 
of both worlds".  
 
Briefly discuss how you see the future of AI and to what extent such hybrid "neuro-
symbolic" systems might be the missing piece. 

b. (3 p) What do you think about the 
following headline and illustration (see 
right; MIT Tech Review, May 2021):  
 
“AI is learning how to create itself – 
Humans have struggled to make truly 
intelligent machines. Maybe we need to 
let them get on with it themselves.” 
 
How well does this reflect your understanding of the capabilities of current AI? 

c. (3 p) In what ways might AI be a threat to human rights? Mention at least two threats 
and propose ways to avoid these threats when developing and deploying AI systems. 
 
 
 



2. Problem Solving by Search 
 
Let's solve a puzzle: Alice (A) and Bob (B) are the proud owners of two remote-
controlled robot dogs, named Curveball (C) and Dumbo (D). They want to cross a river 
with a tiny boat that can only fit only a) one person or b) up to two robot dogs (not, for 
example, one person and one robot dog). The boat has an electric outboard motor and the 
robot dogs are capable of operating the boat on their own. How to get all of them across 
the river dry? 

a. (5 p) To get started, we'll draw a state-
transition diagram. We've already gotten 
started with it, see right. The notation 
shows each of our protagonists as the 
letters A,B,C,D on either the left or the 
right side of the river ('~'). The star ('*') 
indicates on which side of the river the 
boat is in each state.  
 
For example, in the starting state (the 
leftmost node in the diagram), everyone 
is still on the left side with the boat. 
There are five possible transitions: one 
for each of the four agents traveling to 
the right side alone, plus one where 
Curveball and Dumbo go together (the 
middle one: "AB ~ CD*"). 
 
Draw the rest of the state-transition diagram. Remember to draw each state only once, 
or otherwise your diagram will become infinitely large. Note that all the transitions are 
two-way. You shouldn't get more than a couple dozen states in your diagram. If you 
get more, something's off. 

b. (1 p) Using the state-transition diagram, provide a solution to the puzzle in the form of 
a sequence of transitions from the state "ABCD* ~" to the state "~ ABCD*". 

c. (2 p) What search algorithm would be a good choice in this case? What search 
algorithm would be a poor choice? Why? 

d. (2 p) What types of real-world problems can be solved by this type of search 
techniques? What types of real-world problems can't? 
 
 
 
 

ABC ~ D* 

ABCD* ~ AB ~ CD* 

BCD ~ A* 

...

...

ABD ~ C* 

ACD ~ B* 



3. Reasoning under Uncertainty
 
Suppose we are building a probabilistic model of the following scenario: The risk of 
catching a contagious disease  depends on the age of a person and whether they have been 1

exposed to an infected person. The symptoms of the disease include fever which occurs 
more often with elderly patients than with the young. There is a test that can identify the 
disease but the test isn't perfect. 

a. (3 p) Draw a Bayesian network to describe the above scenario.  
 
The network should contain five nodes: Age (young/old), Exposed (yes/no), Disease 
(yes/no), Fever (yes/no), and Test (pos/neg). The parents of each node should include 
the variables that influence the node in question: for example, the parents of the node 
Disease, should be Age and Exposed. (You can assume, for the sake of simplicity, that 
Age and Exposed are independent of each other, and that the test accuracy is the same 
for everyone.)  
 

b. (3 p) Come up with imaginary, but reasonable, conditional probability tables for the 
network. 

c. (2 p) Pretend to draw a sample of size n = 10 from the network. List the values of the 
five variables for each of the ten cases (or tuples) like this: 
 
AGE    EXPOSED   DISEASE     FEVER    TEST 
young  yes                no                  no            neg 
old       yes                yes                 yes          pos 
... 

d. (2 p) What could such a network be useful for? How would it be used? 

 
 
 
 
 

 

 Any similarity to actual persons or events is purely coincidental.1



4. Machine Learning 
 
Consider a simple binary classification task where we classify two-dimensional data 
points into two classes: orange vs black. Given labeled training data, a nearest neighbour 
classifier splits the (x,y)-plane into regions based on the class label of the nearest training 
data point. The left figure below shows an example of the resulting classification 
boundaries: any test data point in the shaded regions would be classified as black.

a. (3 p) Draw a similar diagram showing the classification boundaries for the training 
data in the figure on the right, where there is one additional black data point. 

b. (2 p) Do the same with a 3-NN classifier (using the data on the right).

c. (3 p) Now suppose we weren't dealing with simple 2D data but, say, images or audio 
samples. In what kinds of image or audio classification tasks would the k-NN 
classifier be likely to perform well and in what kinds not so well? 

d. (2 p) What type of an approach would you try instead in the cases from the previous 
item where you expect the k-NN classifier to perform poorly? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



5. Natural Language Processing

a. (3 p) Consider a context-free grammar with the following rules: 
S ⟶ S S B ⟶ S B S ⟶ bada       
S ⟶ A B A ⟶ big B ⟶ boom 

S is the starting symbol. From S, we can generate, for example, S ⟶ AB ⟶ ASB 
⟶ ... ⟶ big bada boom. 
Does the language contain the following three sentences (or strings): “boom boom”, 
“bada bada bada bada”, “big boom big boom”? Justify your answer. 

b. (5 p) Apply the CYK algorithm to fill in the following table in order to determine 
whether the sentence “big boom bada bada big boom” belongs to the language. Hint: 
Cells (5,5), (6,6), and (5,6) have already been filled in. Recall that, e.g., cell (5,6) 
covers the words 5–6: “big boom”.

 

c. (2 p) What is the corresponding parse tree (or parse trees), if any? Does the sentence 
belong to the language or not? 
 

(1,6)

(1,5) (2,6)

(1,4) (2,5) (3,6)

(1,3) (2,4) (3,5) (4,6)

(1,2) (2,3) (3,4) (4,5)  S   (5,6)

(1,1) (2,2) (3,3) (4,4)   A  (5,5)   B   (6,6)

big boom bada bada big boom



TKT20001 Tietorakenteet ja algoritmit (kevät 2020)

Kurssikoe 1, malliratkaisut

Tehtävän 1 tarkasti Jyrki Kivinen, tehtävän 2 Jukka Rautaoja, tehtävän 3 Marcus Leivo
ja tehtävän 4 Hannu Kärnä.

1. [4 pistettä] Pikajärjestäminen. Selitä lyhyesti pikajärjestämisen toimintaperiaate. Yk-
sityiskohtaista pseudokoodia tms. ei tarvitse antaa; sopiva vastauksen tarkkuustaso
on sanallinen selitys, jota on havainnollistettu parilla kuvalla tai kaaviolla. Mitä tie-
detään pikajärjestämisen aika- ja tilavaativuudesta? (Näitä ei tarvistse perustella.)

Hyvän vastauksen pitäisi normaalikäsialalla mahtua helposti yhdelle sivulle.

Ratkaisu: Pikajärjestämisessa taulukon alkiot järjestetään pienimmästä suurimpaan
seuraavasti:

(1) Jos taulukossa on korkeintaan yksi alkio, lopeta tekemättä mitään.

(2) Valitse jokin taulukon alkio jakoalkioksi.

(3) Järjestele taulukon alkiot niin, että jakoalkiota pienemmät alkiot tulevat jakoal-
kion vasemmalle puolelle ja suuremmat oikealle.

(4) Järjestä jakoalkion vasemmalle puolelle jäävä osataulukko ja oikealle puolelle
jäävä osataulukko soveltamalla kumpaankin rekursiivisesti pikajärjestämistä.

Jakoalkion valintaan ja alkioiden järjestelemiseen kohdassa (3) on erilaisia menetel-
miä. Seuraava esimerkki havainnollistaa algoritmin toimintaa, kun jakoalkioksi vali-
taan aina taulukon esimmäinen alkio (kuva luentomateriaalin sivulta 125):

4 7 2 3 5 8 1 6 0 7

0 2 3 1 4 8 7 6 5 7

7 7 6 5 82 3 1

1 2 3

5 6

5 6

0

7 7

Algoritmin aikavaativuus on pahimmassa tapauksessa O(n2) ja keskimäärin
O(n log n), kun taulukon eri järjestykset oletetaan keskenään yhtä todennäköisiksi.
(Käytännössä hyvin toteutettu pikajärjestäminen on yleensä yksi nopeimmista ellei
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nopein järjestämisalgoritmi.) Tilavaativuus on naiivilla toteutuksella pahimmassa ta-
pauksessa O(n) ja keskimäärin O(log n); optimoidulla totetuksella tilavaativuudeksi
saadaan myös pahimmassa tapauksessa O(log n).

Kommentteja vastauksista: Vastauksissa ilmeni hyvin paljon epäselviä tai suoras-
taan virheellisiä käsityksiä. Seuraavassa käydään läpi yleisimpiä niistä, vaikka niistä
ei kaikista olekaan arvostelussa vähennetty pisteitä.

Kun algoritmin keskimääräinen aikavaativuus on O(n log n), se ei tarkoita, että aika-
vaativuus on O(n log n) ”yleensä”, ”hyvin toteutettuna” tms. Kysymyksessä on täs-
mällinen matemaattinen väittämä: kun syöte valitaan satunnaisesti tiettyjen ole-
tusten vallitessa, niin suoritusajan odotusarvo on O(n log n). Pikajärjestämisen (ja
yleensä järjestämisalgoritmien) tapauksessa nämä oletukset ovat, että taulukon al-
kiot ovat eri suuria ja niiden jokainen järjestys esiintyy yhtä todennäköisesti.

Pikajärjestämistä voisi tarkemmin sanoa perheeksi algoritmeja, koska jakoalkion va-
lintaan ja siihen liittyvään taulukon järjestelemiseen on erilaisia vaihtoehtoja. Perus-
versiossa jakoalkioksi valitaan taulukon ensimmäinen alkio, mutta todelliseen käyt-
töön tarkoitetussa toteutuksessa parempi (mutta silti yksinkertainen) valinta olisi
taulukon ensimmäisen, viimeisen ja keskimmäisen alkion mediaani, tai yleisemmin
esim. viiden tasavälisesti poimitun alkion mediaani. Kaikilla näillä jakoalkion valin-
tamenettelyillä algoritmin aikavaativuus on O(n log n) keskimäärin ja O(n2) pahim-
massa tapauksessa.

Miksi sitten ensimmäisen alkion valitsemista pidetään huonona, vaikka se johtaa
samaan aikavaativuusluokkaan kuin parempina pidetyt? Pääasiallinen syy on, että
ensimmäisen alkion valitsevan algoritmin (eräs) pahin tapaus on valmiiksi järjestet-
ty taulukko, jollaisia (ainakin suunnilleen) voi helposti kuvitella esiintyvän käytän-
nön sovelluksissa. Useamman alkion mediaaniin perustuville algoritmeille on niille-
kin mahdollista löytää tapauksia, joissa aikavaativuus on O(n2), mutta tämä vaatii
huomattavasti keinotekoisempia konstruktioita, joiden esiintyminen käytännössä on
vähemmän luultavaa.

(Teoriassa on mahdollista valita jakoalkioksi koko taulukon mediaani ajassa O(n).
Tämä ei kuitenkaan ole käytännöllistä, koska tarvittava algoritmi on melko monimut-
kainen ja sen käyttäminen johtaisi suuriin vakiokertoimiin, mikä poistaisi keskeisen
syyn ylipäänsä käyttää pikajärjestämistä eikä muita O(n log n)-algoritmeja.)

Monessa vastauksessa oli mainittu, että ensimmäisen alkion valitseminen johtaa aika-
vaativuuteen O(n2), jos syötetaulukko on laskevassa järjestyksessä (kun se halutaan
nousevaan). Tämä on kyllä totta, mutta oleellisempaa ja helpommin nähtävää on,
että valmiiksi oikeassa järjestyksessä oleva taulukko johtaa tähän aikavaativuuteen.

Jakoalkion valinnan lisäksi algoritmin tehokkuuteen vaikuttaa, miten alkioita siir-
rellään halutun jaon aikaansaamiseksi. Esim. jos taulukon kaikki alkiot ovat yhtä
suuria, on tietysti samantekevää, mikä niistä valitaan jakoalkioksi. Kurssimateriaa-
lissa esitetyllä jako-proseduurilla on sekin huono puoli, että tässä tilanteessa se taas
johtaa aikavaativuuteen O(n2). Tämä voitaisiin välttää toisenlaisella alkioiden siir-
telystrategialla, jota emme kuitenkaan tässä rupea selvittämään.

Tilavaativuuden muodostumisessa tuntui olevan jonkin verran epäselvyyttä. Pika-
järjestäminen ei käytä aputaulukoita. Tilavaativuus ei silti ole O(1), sillä rekursion
synnyttämä aktivaatiotietuepino vaatii tilan O(log n).
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Hyvin monessa vastauksessa algoritmin toiminnan kuvauksessa todettiin, että kun
alku- ja loppuosa on erikseen järjestetty rekursiivisesti, osataulukot yhdistetään. Ei
niitä yhdistetä. Ne ovat valmiiksi yhdessä. Toisin kuin lomitusjärjestäminen, pika-
järjestäminen tekee kaikki alkioiden siirtelyt taulukon alkuperäisen talletusalueen si-
sällä. Kun alku- ja loppuosa on kumpikin erikseen järjestetty, lopputulos on samalla
hetkellä valmis ilman lisätoimia. Tämä osaltaan selittää, miksi kurssimateriaalissa
esitetty jako-proseduuri (ja muut kirjallisuudesta löytyvät) on niin epäintuitiivinen:
vaatii hieman temppuilua, että haluttu jaottelu saadaan syntymään ilman aputaulu-
kon käyttämistä.

Arvosteluperusteet: Kolme pistettä tuli algoritmin toiminnan selityksestä ja yksi
piste aika- ja tilavaativuudesta.

Toiminnan selityksen osalta

• yhteen pisteeseen riitti jonkinlainen kohtuullisen oikeansuuntainen selitys

• kahteen pisteeseen vaadittiin, että selityksen perusteella opiskelija vaikuttaa ym-
märtäneen algoritmin jokseenkin oikein

• kolmeen pisteeseen vaadittiin, että toiminta oli kuvattu selvästi ja ymmärrettä-
västi.

Vaikka tehtävänannossa vihjattiin, että kuva olisi hyödyllinen, sellaista ei kuiten-
kaan ehdottomasti vaadittu, jos selitys oli muuten hyvin selvä. Tältä kannalta jako-
proseduurin pseudokoodin kopioiminen vastauspaperiin ei ole hyvä havainnollistus-
keino. Erilaisten jakoalkion valintamenettelyjen esittelyä ei ole vaadittu, mutta jos
vastauksesta ei mitenkään käy ilmi, että ensimmäisen alkion valitseminen ei ole ainoa
mahdollisuus, on vähennetty 0,5 pistettä.

Aikavaativuudesta sai 0,5 pistettä toteamalla, että keskimääräisen tapauksen aika-
vaativuus on O(n log n) ja pahimman tapauksen O(n2). Nämä kumpikin vaadittiin.
Pisteitä ei ole vähennetty siitä hyvin yleisestä puutteesta, että aikavaativuuteen
O(n log n) liittyvä ”keskimääräinen tapaus” on selitetty hyvin epämääräisesti (kat-
so kommentteja tuonnempana). Tilavaativuuden osalta 0,5 pistettä on saanut totea-
malla joko, että se on keskimäärin O(log n) ja pahimmassa tapauksessa O(n) (mikä
pätee kurssimateriaalissa esitetylle yksinkertaiselle toteutukselle) tai että se on aina
O(log n) (mikä pätee optimoidulle toteutukselle). Toteamalla tilavaativuudeksi O(n)
ilman mitään täsmennystä ei ole saanut pisteitä.
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2. [2 + 3 pistettä]

(a) Määrittele, millainen on binäärihakupuu. Mitä ehtoja binäärihakupuun pitää
täyttää, että se olisi AVL-puu?
Ratkaisu: Binäärihakupuussa jokaisen solmun avain on suurempi kuin mikään
avain sen vasemmassa alipuussa ja pienempi kuin mikään avain sen oikeassa
alipuussa. Binäärihakupuu on AVL-puu, jos jokaisessa solmussa vasemman ja
oikean alipuun korkeuksien erotus on -1, 0 tai 1.
Pisteytys: kummastakin seuraavasta erikseen yksi piste:

• On kerrottu, että binäärihakupuu koostuu solmuista, jotka on järjestetty
niin, että puussa on helppo löytää suurin ja pienin alkio.
• AVL-puun tasapainoehto kerrottu. Jokaisen solmun vasemman ja oikean

alipuun korkeusero on enintään 1.

(b) Esitä yksityiskohtaisena pseudokoodina algoritmi, joka saa parametrina osoitti-
men binääripuun juureen ja palauttaa puun lehtien lukumäärän.
Algoritmin aikavaativuuden tulee olla O(n), missä n on puun solmujen luku-
määrä. Aikavaativuutta ei tarvitse erikseen perustella.
Ratkaisu:

lehdet(solmu)

if solmu == null
then return 0

elseif solmu . vasen == null and solmu . oikea == null
then return 1

else return lehdet(solmu . vasen) + lehdet(solmu . oikea)

Pisteytys: kustkin seuraavasta erikseen yksi piste:

• Algoritmi laskee oikein lehtien eli lapsettomien solmujen lukumäärän.
• Algoritmi palauttaa oikein lehtien lukumäärän.
• Algoritmi ei aiheuta virhettä yrittämällä seurata null-osoitinta eikä ajaudu

ikuiseen rekursioon/toistolauseeseen.

Kommentteja:

• Pisteet eivät ole riippuvaisia toisistaan, toki b-kohdan 1. ja 2. piste ovat lähellä
toisiaan.

• Moni laski solmujen lukumäärän tai ei käsitellyt null-osoittimia oikein.
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3. [6 pistettä] Mitkä ovat seuraavien algoritmien aikavaativuudet?

Jokaisessa kohdassa anna aikavaativuudelle mahdollisimman tarkka arvio parametrin
n funktiona käyttäen iso-O-merkintää ja selitä lyhyesti, miten päättelit aikavaativuu-
den. Selitykseksi riittää virke tai pari, joissa mainitset käyttämäsi yleiset periaatteet
tms.; tarkkoja matemaattisia todistuksia ei tarvita.

Algoritmit eivät tee mitään erityisen hyödyllistä. Kolme pistettä ”...” tarkoittaa
jotain vakioajassa tapahtuvaa laskentaa. Kohdissa (a)–(e) ilmoita annetun koodin-
pätkän aikavaativuus, kohdassa (f) kutsun f(n) aikavaativuus.

(a) for i=1 to n
...

for i=1 to n
for j=1 to n

...

Ratkaisu: Ensimmäinen silmukka suoritetaan n kertaa, joten sen aikavaativuus
on O(n). Toisessa silmukassa sisin osuus suoritetaan n · n kertaa, joten sen
aikavaativuus on O(n2). Laitettaessa nämä kaksi osuutta peräkkäin suurempi
aikavaativuus määrää kokonaisuuden aikavaativuuden, joten koko algoritmin
aikavaativuudeksi tulee O(n2).

(b) for i=1 to n
for j=1 to i

...

Ratkaisu: Sisin osuus suoritetaan i kertaa arvoilla i = 1, . . . , n eli yhteensä
1 + . . .+ n = n(n+ 1)/2 = O(n2) kertaa. Siis aikavaativuus on O(n2).

(c) j = 0
while j < n

...
j = j + 3

Ratkaisu: Silmukka suoritetaan dn/3 e kertaa, joten aikavaativuus on O(n).
(d) j = 0

while j < n
...
j = j + n/3 + 1

Ratkaisu: Jokainen silmukan suorituskerralla laskuri kasvaa ainakin n/3, joten
suorituskertojen lukumäärä on korkeintaan 3 eli vakio. Aikavaativuus on O(1).

(e) j = 1
while j < n*n

...
j = j*2

Ratkaisu: Silmukkamuuttujan arvo kaksinkertaistuu joka suorituskerralla. Ylä-
rajan n2 saavuttamiseen tarvitaan noin log2 n

2 = 2 log2 n kaksinkertaistusta,
joten aikavaativuus on O(log n).
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(f) procedure f(n)
if n == 0

return
f(n-1)
f(n-1)

Ratkaisu: Parametrin n kasvattaminen yhdellä kaksinkertaistaa tehtävän las-
kennan, joten aikavaativuus on O(2n).

Kommentteja vastauksista: Todella moni oli yrittänyt perustella kohdan (a) ai-
kavaativuutta sillä, että koodissa oli sisäkkäiset for-silmukat, mutta yleisesti ottaen
tämä ei riitä todistamaan että aikavaativuus olisi O(n2). Kohdassa (b) monet olivat
vastanneet aikavaativuudeksi O(ni), mikä ei ole lainkaan mielekäs vastaus. Muuten
tehtävä oltiin osattu suhteellisen hyvin.

Pisteytys: 0,5 pistettä oikeasta aikavaativuudesta ja 0,5 pistettä oikeasta peruste-
lusta. Perusteluiden tuli olla tarkkuustasoltaan suunnilleen samaa luokkaa mallivas-
tauksien kanssa.
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4. [5 pistettä] Syötteenä on taulukko, jossa on n mielivaltaisen suurta positiivista ko-
konaislukua. Tehtävänä on etsiä taulukosta kahta lukua, joista pienempi on tasan
puolet suuremmasta; siis luvut x ja y, joilla y = 2x. Jos tällaiset kaksi lukua löytyy,
vastauksena tulee palauttaa niistä pienempi. Jos ratkaisuja on useita, mikä tahansa
niistä kelpaa. Jos tällaisia kahta lukua ei ole taulukossa, vastauksena tulee palauttaa
−1.
Suunnittele ongelmaan ratkaisualgoritmi, jonka pahimman tapauksen aikavaativuus
on O(n log n). Ratkaisussasi esitä algoritmi tehtäväpaperin alussa selitettyjen peri-
aatteiden mukaisesti. Selitä myös lyhyesti ratkaisusi toimintaperiaate, erityisesti sen
mahdollisesti käyttämät tietorakenteet. Perustele algoritmisi aikavaativuus.

Esimerkki Jos syötteenä on taulukko [3, 22, 7, 5, 11, 5], algoritmi palauttaa arvon 11,
sillä 22 = 2 · 11. Jos taas syötteenä on taulukko [8, 5, 14, 13, 6, 1], algoritmi palauttaa
−1, koska mikään luku ei ole tasan puolet jostain toisesta.

Ratkaisu 1: Käydään taulukko kerran läpi ja talletetaan sen alkiot aluksi tyhjään
tasapainotettuun binäärihakupuuhun. Sen jälkeen käydään taulukko toisen kerran
läpi ja jokaisen alkion x kohdalla tarkastetaan, löytyykö 2x hakupuusta. Jos löytyy,
palautetaan x. Jos taulukon läpikäynti ei johda tulokseen, palautetaan −1.
Algoritmissa käydään n-alkioinen taulukko kaksi kertaa läpi, ja kummallakin lä-
pikäynnillä tehdään jokaista taulukon alkiota kohti yksi tasapainotetun hakupuun
operaatio. Hakupuussa on enimmillään n avainta. Siis lisäys- ja hakuoperaatio me-
nevät ajassa O(log n). Kokonaisaikavaativuus on O(n) ·O(log n) +O(n) ·O(log n) =
O(n log n).

Ratkaisu 2: Järjestetään ensin taulukko lomitusjärjestämisellä. Sen jälkeen käydään
taulukko alkio kerrallaan läpi, ja alkion x kohdalla tarkastetaan binäärihaulla, onko
alkio 2x taulukossa. Jos 2x löytyi, palautetaan x. Jos taulukon läpikäynti ei johda
tulokseen, palautetaan −1.
Lomitusjärjestäminen vie ajan O(n log n). Koska läpikäynnissä tehdään jokaista tau-
lukon alkiota kohti yksi binäärihaku ajassa O(log n) ja lisäksi vakioaikaista laskentaa,
läpikäynti menee ajassa O(n log n), joka siis on myös algoritmin kokonaisaikavaati-
vuus.

Ratkaisu 3:

etsiTupla(A[0 . . . n− 1])

mergeSort(A)
vasen = 0
oikea = 1
while oikea < n

if A[oikea] == 2 ·A[vasen]
then return A[vasen]

if A[oikea] < 2 ·A[vasen]
then oikea = oikea +1

else vasen = vasen +1
return −1

Algoritmin aikavaativuus on O(n log n), joka tulee lomitusjärjestämisestä. While-
silmukassa aina vasen ≤ oikea < n ja muuttujista vasen ja oikea toinen kasvaa
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yhdellä, joten silmukka suoritetaan korkeintaan 2n kertaa. Koska laskenta silmukan
sisällä on vakioaikaista, silmukan aikavaativuus on O(n).

Selvästi jos algoritmi palauttaa jonkin muun arvon kuin−1, se on kelvollinen ratkaisu.
Perustellaan vielä, että jos kelvollinen ratkaisu on olemassa, algoritmi aina löytää sen.
Oletetaan tätä varten, että joillain p ja q pätee A[q] = 2 ·A[p].

Niin kauan kuin vasen ≤ p, muuttuja oikea ei voi saada arvoa q+1. Tällöin nimittäin
taulukon järjestyksen takia A[q] = 2 ·A[p] ≥ 2 ·A[vasen], joten tilanteessa oikea = q
ehto oikea-muuttujan kasvattamiselle ei toteudu.

Vastaavasti kun oikea ≤ q, muuttuja vasen ei voi saada arvoa p+1: pätee A[oikea] ≤
A[q] = 2 · A[p], joten tilanteessa vasen = p ehto vasen-muuttujan kasvattamiselle ei
toteudu.

Siis niin kauan kuin vasen ≤ p, pätee myös oikea ≤ q; ja niin kauan kuin oikea ≤ q,
pätee myös vasen ≤ p. Koska aluksi kumpikin ehto pätee, ne pysyvät kumpikin
voimassa loppuun asti. Jos algoritmi ei palauta jotain toista ratkaisua, niin joka
askelella joko vasen tai oikea kasvaa. Siis lopulta saavutetaan tilanne, jossa vasen = p
ja oikea = q, ja algoritmi palauttaa arvon A[p].

Kommentteja vastauksista: Binäärihaku ei toimi järjestämättömässä taulukossa.
Pikajärjestäminen voi pahimmassa tapauksessa vaatia ajan O(n2) ja yksi hajautus-
taulun operaatio ajan O(n).

Koska luvut olivat mielivaltaisen suuria, ei tehtävää voinut ratkaista oikein esim. kir-
jaamalla luvut boolean-taulukkoon, jossa indeksiä k vastaava arvo kertoo, onko luku
k syötteessä. Sitä varten pitäisi voida tallettaa mielivaltaisen suuri taulukko. Siten ei
myöskään ole olemassa hajautusfunktiota, joka pahimmassa tapauksessa jakaisi tal-
letettavat arvot tasaisesti hajautustauluun. Oli talletustila miten suuri vain, voidaan
riittävän suuria lukuja valitsemalla muodostaa syöte, jonka jokaisella luvulla on sama
hajautusarvo.

Jotkin vastaukset perustuivat väärään oletukseen, että y = 2x tulee syötteessä aina
myöhemmin kuin x, että x ja y ovat järjestämisen jälkeen taulukossa peräkkäin, x
on aina pariton tai y on taulukon suurin arvo.

Joskus etsittiin nousevaan järjestykseen järjestetystä taulukosta x:ää vain y:n oi-
kealta puolelta tai y:tä x:n vasemmalta puolelta. Vastaava tapahtui hajautustaulua
käyttäen, jos sinne lisättiin taulukon alkioita pienimmästä alkaen ja samalle etsittiin
alkion arvoa kahdella kerrottuna. Tupla-arvo ei vielä sillä hetkellä voi olla talletet-
tuna. Ratkaisu toimi oikein – oli taulukko järjestetty tai ei – jos kunkin lisäyksen
jälkeen etsittiin sekä kaksinkertaista arvoa että puolta pienempää.

Jos kuitenkin esim. lisättiin hajautustauluun sekä taulukon alkion arvo että arvo ker-
rottuna kahdella, ja sitten etsittiin arvon puolikasta, päädyttiin hyväksymään myös
y = 4x. Esim. syöte on { 1, 4 }. Talletetaan 1 ja 2 · 1 = 2. Etsitään arvon 1 puoli-
kasta, ei löydy. Talletetaan 4 ja 2 · 4 = 8. Etsitään arvon 4 puolikasta, löydetään ja
palautetaan virheellisesti luku 2, jota ei syötteessä ollut. Tämän tapaisesta virheestä
esiintyi muutamaa muunnelmaa.

Seuraavan silmukan suoritusaika ei ole O(n):

i = 1, j = 2
while i < n
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if t[j] == 2*t[i] return t[i]
if j == n

i++
j = i+1

else j++
return -1

Silmukan lopetus perustuu muuttujaan i, mutta ensisijaisesti silmukassa kasvate-
taankin vain muuttujaa j. Muuttujan i arvo kasvaa vasta, kun j on pääsyt arvoon
n, jolloin j palaa alkuun. Sama algoritmi tutummin kirjoitettuna:

for i = 1 to n-1
for j = i+1 to n

if t[j] == 2*t[i] return t[i]
return -1

Vaikka j käy i:n kasvaessa yhä pienemmän alueen läpi, ei suoritusaika ole myöskään
O(n log n), kuten useassa vastauksessa arvioitiin, vaan O(n2). Keskimäärin sisem-
pi silmukka suoritetaan noin n/2 kertaa, ei log n kertaa. Muita toistuvia virheitä
aikavaativuuden arvioissa oli, että koko syötteen talletus tasapainotettuun binääri-
hakupuuhun tapahtuisi ajassa O(n).

Järjestetyn taulukon pystyy tarkastamaan lineaarisessa ajassa kahta osoitinta käyt-
täen mallivastauksen Ratkaisun 3 tapaan. Jos kuitenkin toista osoitinta askelletaan
alusta loppuun päin ja toista lopusta alkuun päin tai muuten väärin, jää joko joitakin
mahdollisia lukupareja tutkimatta tai sitten algoritmi muuttuu aikavaativuudeltaa
neliölliseksi, kun toinen osoitin joudutaan välillä palauttamaan alkupisteeseensä. Lä-
pikäynnin optimoinnit eivät pudota aikavaativuutta luokkaan O(n), jos edelleen kuta-
kin arvoa verrataan useaan muuhun arvoon, joiden määrä kasvaa suorassa suhteessa
syötteen kokoon. Joissakin ratkaisuissa oli käytetty apuna listaa tai toista tauluk-
koa, joka oli joko suora kopio järjestetystä taulukosta tai sen arvot kaksinkertaisena
/ puolitettuna. Myös näin oli mahdollista päätyä löytämään lukupari tavoitellussa
ajassa O(n), ohittamaan mahdollisia lukupareja tai käyttämään aikaa O(n2).

Arvosteluperusteet:

5 pistettä: kattava kuvaus ja aikavaativuusarvio algoritmista, jonka pa-
himman tapauksen aikavaativuus on O(n log n)

4,5 pistettä: pieni virhe yllä mainitussa
4 pistettä:

• kattava kuvaus ja aikavaativuusarvio algoritmista, jonka keskimää-
räinen aikavaativuus on O(n log n): käytettiin hajautukseen perus-
tuvaa tietorakennetta tai pikajärjestämistä tai määrittelemätöntä
järjestämisalgoritmia tai
• puutteellinen / virheellinen kuvaus ja aikavaativuusarvio algorit-

mista, jonka pahimman tapauksen aikavaativuus on O(n log n)

3,5 pistettä:
• pienen virheen sisältävä kuvaus ja aikavaativuusarvio algoritmista,

jonka keskimääräinen aikavaativuus on O(nlog n) tai

9



• muuten virheetön algoritmi ja aikavaativuusarvio, jonka toimivuus
perustuu siihen, että voidaan käyttää taulukkoa, jonka pituus on
yhtä suuri kuin syötteen arvoalue, vaikka arvoalue oli tehtävänan-
nossa määritelty mielivaltaisen suureksi

3 pistettä: puutteellinen / virheellinen kuvaus ja aikavaativuusarvio al-
goritmista, jonka keskimääräinen aikavaativuus on O(n log n), esim.
vaativuutta ei ole arvioitu lainkaan

2,5 pistettä: algoritmi koostuu peräkkäisistä osista, joiden aikavaativuus
on O(n log n), mikä on analysoitu oikein, mutta ratkaisussa on vakava
ajatusvirhe tai puute

2 pistettä: pyritty O(n log n)-ratkaisuun käyttämällä tehokkaaksi tun-
nettuja algoritmeja ja tietorakenteita, mutta oleellisesti puutteellinen
/ virheellinen vastaus, vähän enemmän oikeaa kuin 1,5 pisteen vas-
tauksessa

1,5 pistettä:
• täsmällisesti kuvattu O(n2) aikavaativuuden ratkaisu tai
• pyritty O(n log n)-ratkaisuun käyttämällä tehokkaaksi tunnettu-

ja algoritmeja ja tietorakenteita, mutta oleellisesti puutteellinen /
virheellinen vastaus; ei ole ilmeistä tapaa korjata ratkaisu toimi-
vaksi, vaan tarvitaan oleellinen muutos, johon ei löydy viitteitä
vastauksesta

1 piste:
• aikavaativuuden O(n2) ratkaisu, jossa puutteita tai
• oleellisesti virheellinen ratkaisu, jossa kuitenkin oikeaa ajatusta ja

pyritty tehokkuuteen.
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TKT20005 Beräkningsmodeller (hösten 2020)
Mellantentamen I (28.9)

1. (4+4 poäng) Språket A i alfabetet { a,b, c } består av de strängar, som inte innehåller delsträngen
ab.

(a) Ange (rita upp) en deterministisk ändlig automat, som känner igen språket A.

(b) Ange ett reguljärt uttryck, som beskriver språket A.

2. (6 poäng) Omvandla den icke-deterministiska ändliga automaten nedan till en deterministisk
sådan genom att tillämpa metoden presenterad under kursen (på föreläsningarna eller i kurs-
boken). Mellansteg behöver inte ritas ut, förutsatt att det av slutresultatet klart framgår, att
det uppnåtts med den angivna metoden.

A B

C D

1

ε

ε

0
01

1

0

1

3. (2+2+2 poäng) Låt X och Y vara språk i alfabetet { 0, 1 }. Ange för varje delfråga nedan antingen
exempel på två språk X och Y , som uppfyller givna villkor eller alternativt visa, att dylika X och
Y inte existerar. Som hjälpmedel kan användas alla på kursen bevisade egenskaper hos reguljära
språk, såsom slutenhetsegenskaperna och det faktum, att t.ex. språket { 0n1n | n ∈ N } inte är
reguljärt.

(a) X är reguljärt, Y är inte reguljärt och X ∪ Y är reguljärt.

(b) X är inte reguljärt, Y är inte reguljärt och X ∪ Y är reguljärt.

(c) X är reguljärt, Y är reguljärt och X ∪ Y är inte reguljärt.

4. (4 poäng) Visa, att språket C = { ambnambn | m,n ∈ N } i alfabetet { a,b } inte är reguljärt.
Tillåtna hjälpmedel är pumpningslemmat och andra på kursen bevisade allmänna egenskaper
för reguljära språk, dock inte resultat som direkt säger att ett visst språk inte är reguljärt.



TKT20005 Beräkningsmodeller (hösten 2020)
Mellantentamen II (14.10)
Besvara alla deluppgifter. Denna mellantentamen ger maximalt 24 poäng.

1. (4 + 4 poäng)

(a) Ange en kontextfri grammatik för språket{
amb2ma2nbn | m,n ∈ N

}
.

i alfabetet { a,b }.
(b) Ange en kontextfri grammatik för språket

{ apbqar | p, q, r ∈ N och q > p+ r }

i alfabetet { a,b }.

2. (6 poäng) Låt P vara ett Javaprogram, x en av dess metoder och s någon av möjliga indata till
det. Målet är att bestämma, om metoden x kallas på en enda gång under exekveringen av P ,
när indata är s. Existerar det för detta beräkningsproblem en lösningsalgoritm, som löser det
korrekt för alla fall av (P, x, s)? Bevisa ditt påstående. För beviset kan användas vilka som helst
resultat som presenterats under kursen.

3. (2 + 4 + 4 poäng) En dominerande mängd i en oriktad graf är en mängd av dess noder så att
varje nod i grafen antingen hör till ifrågavarande mängd eller är granne till en nod som gör det.

Med andra ord, om G = (V,E) är en oriktad graf och S ⊆ V en mängd av noder i G, så är S en
dominerande mängd, om för varje nod v ∈ V mängden { v } ∪ {u ∈ V | (u, v) ∈ E } innehåller
åtminstone ett element ur mängern S.

(a) Ge exempel på en graf, som har en dominerande mängd som består av tre noder, men inte
har en som består av två. Motivera varför grafen som angivits har denna egenskap.

(b) I dominerande mängd-problemet ges som input en oriktad graf G och ett naturligt tal k.
Målet är att bestämma, huruvida grafen G har en dominerande mängd med exakt k noder.
Uttryck dominerande mängd-problemet som ett formellt språk.
Visa, att dominerande mängd-problemet hör till klassen NP. Som lösning räcker en sche-
matisk beskrivning av en algoritm som behövs för detta och en kort motivering för att
algoritmen har behövliga egenskaper.

(c) I själva verket är det känt, att dominerande mängd-problemet är NP-fullständigt. Hur
hänger alltså P vs. NP-problemet samman med lösningsalgoritmerna för det här problemet?
Motivera kort med hjälp av resultat presenterade under kursen.



Uppgift 1: Scrum (4p) 
 
Scrum definierar en mängd roller, artefakt, möten och spelregler. Berätta vilka metoder Scrum 
erbjuder för att lösa problemsituationerna nedan. Det räcker inte att du listar termer. Berätta vad 
varje botemedel som Scrum erbjuder handlar om och hur den hjälper med problemet som 
beskrivs. 
 

● Silva och Jussi grälar ofta om ifall enhetstest bör skapas för nya funktionaliteter. 
● Jami, som är chef för företagets marknadsavdelning, får ofta briljanta ideér som bör 

implementeras genast oavsett vad som är på hälft.  
● För ofta märker man att ett par programutvecklare, speciellt Kristian och Petrus, har 

båda kodat varsin version av samma user story. Många dagars arbete kan gå till spillo.  
● Ibland är det oklart vilka storyn som borde utföras under sprinten. Det beror lite på vilken 

av företagets chefer man råkar fråga, speciellt vdn Luukkainens åsikt avviker från de 
andra chefernas linje.  

● Samma problem uppstår i projektet från månad efter månad, t.ex. Git används hur som 
helst, testerna fungerar ibland och ibland inte. Namngivningen av klasser och metoder är 
ganska arbiträrt. 

● Kalle tycker det är roligt att få programmera helt i fred. Den dåliga sidan är nog den, att 
ingen riktigt vet när något överhuvudtaget blir färdigt. Ibland tar det månader.  

● Dom här sprinterna är roliga. Det är bara lite kaotiskt ibland när ingen riktigt vet vad man 
borde göra under sprinten. Det är ett mysterium hur utförandet av de olika user storyna 
påverkar den existerande koden. 

● Vi har litet det problemet, att fast vi oftast får allt implementerat, kan det inte i slutet av 
sprinten sättas i produktion eftersom test-teamet i Indien fungerar med flera veckors 
fördröjning 

Uppgift 2: Kravhantering (4p)  
 
Din kamrat har fastställt följande user story som beskriver ​betalningsfunktionaliteten för köp i en 
nätbutik​. Vad är bra och vad är dåligt och vad fattas från user storyn? Hur skulle man kunna 
förbättra user storyn? 
 
När köpen i varukorgen betalas (förutom kreditkort fungerar MobilePay och andra möjliga 
betalningsalternativ), skall det i databasens ORDERS-tavla skrivas leveransadressen. Även 
tavlan PRODUCTS, som upprätthåller lagersaldot, skall uppdateras. Det lönar sig att observera, 
att försäljningen under Black Friday är väldigt. Programvaran skall ändå fungera snabbt även 
under en enorm användarpik. Det lönar sig att med samma programmera en möjlighet att 
bestämma hur leveransen arrangeras, genom posten eller någon annan leverantör t.ex. UPS. 
Denna story skall implementeras genast, den är livsviktig. 
 



Uppgift 3: Termer (3p) 
 
Är följande påståenden sanna eller falska? 
 

● Programvarans validering sker genom enhetstestning 
● Om användaren är väldigt nöjd, är troligtvis programvarans externa kvalitet i skick 
● Testernas tillräckliga radtäckning kan säkras genom utforskande testning 
● Med hjälp av ett Burn down -schema kan man uppskatta hur mycket programmerarna 

har arbetstimmar kvar till förfogande i sprinter som är på gång 
● Att följa tillgänglighetsdirektivet (​https://vm.fi/sv/tillganglighetsdirektivet​) år ett så kallat 

icke-funktionellt krav 
● Om man producerar en så kallad minimal viable product, skapar man inte oftast 

omfattande automatiserade tester för den 
● Genom velociteten kan det vara möjligt att uppskatta när programvaran eller en del av 

den blir färdig 
● Även i agila metoder dokumenteras kraven 
● Kodgranskning är vattenfall, den hör inte till agil programvaruutveckling 
● Scrum of Scrums är ett sätt att försöka se efter att ett företags olika teams kan arbeta 

enligt ett gemensamt mål 
● Inkrementell arkitektur garanterar att kodens interna kvalitet hålls i skick 
● Lean startup -metoden förbjuder att ta tekniskt skuld 

Uppgift 4: Lean/DevOps (4p) 
I samband med Lean pratar man om Just in Time (JIT) -produktion, samt om att minimera 
cykeltiden för produktionen.  
 
Klargör vilken nytta en kort cykeltid har i programvaruproduktion, hur man försöker minska på 
cykeltiden i programvaruproduktion och vad DevOps har med saken att göra. 
 
I ditt svar bör du även berätta vad begreppen Just in Time (JIT) -produktion, cykeltiden för 
produktion och DevOps betyder. 

Uppgift 5 (del 1&2): Kodens kvalitet (5p) 
Vad menas med programvarans interna kvalitet? (1p) 
 
Vilka problematiska faktorer gällande programvarans interna kvalitet finns i koden nedan? (2p) 
 
Förklara hur du skulle refaktorera koden nedan genom att tillämpa designmönster eller andra 
lämpliga lösningar. Svaret bör innehålla skiss av kod. Det räcker inte med att lista namn på 
designmönster. Skriv ändå inte "javaboilerplate" (dvs. klass+tillgänglighetsbestämning osv.) i sin 
helhet. (2p) 

https://vm.fi/sv/tillganglighetsdirektivet

